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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. geref Tayem 319 93 95 W ATHw ifardad: fag |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. T TF & fe<l 9 s TR § ffdl TR & FAfe / TR / foaenymd g6 |
o=t oo % WA 1 el A

If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be
treated valid.

3. Oft w & sifa €
All the questions are compulsory.

4. TIH Y T I I S STR-YfEdent | 71 fod
Write the answer to each question in the given answer-book only.

5. 59 7 & T ¥ tfuss TuE i ot wm €, 39 |t 9Ih 1 T TR WY waq
ford |
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.
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10.

11.

2
fHaaTcHs U9 A 23 9 24 H sTidfe faswea € |
There are internal choices in the essay type question nos. 23 and 24.

Y9I G@ 20 7% F Tdh S T 30T H AT |

Give the answers of the question nos. 2 to 7 in thirty words each

approximately .

T HE 8 15T & TIh ST A MY qEH A € |

Give the answers of question nos. 8 to 15 in about half page each.
9T HEA 16 ¥ 21 T % Todeh ST AT UH ¥ H A ¥ |

Give the answers of question nos. 16 to 21 in about one page each.
T WA 229 24 T % T4 ST ATHT 3W 4GS H A E |

Give the answers of question nos. 22 to 24 in 3 to 4 pages each
approximately.

T HHAG 1% AR AE (4, il il 9 iv ) | T WM % I 6 =R faemed
(3,9, AW g) ¥ | &l famey o1 SuUeR Sw-qfet § fgar arfers
ERICTRISIC S

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct alternative

in the answer-book at a place by making a table as mentioned below :

U9 ShHIh TEl ST T HHATRT

Question No. Correct letter of
the Answer

1. (i)

1. (ii)
1. (iii)
1. (iv)
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1. (i) HF, =7l o1 TSR Bidl §

(37) &g 9IS (F) TEH IR

(¥) ST AR (3) TIEE SIS |
The market of gold and silver is

(A) Regional Market (B) National Market

(C) International Market (D) Local Market. %

(ii) gof Gfcefiar § ( TRt § ), ®H Hl Sce 9RI 1@ o fae &9 9 w4
FHIF-H AN WH g =0T 2

(31) 3frEd anTd (9) g uftadaeia anmd
(W) HHW= ar (3) A= Era |

Under perfect competition ( in short period ), to continue the

production at least which cost should a firm get ?

(A) Average Cost (B) Average Variable Cost

(C) Marginal Cost (D) Normal Cost. %
(ili) SeRTel | SATST T X EIT §

(e1) feer (€) *|

(@) ¥ ()  F

In the period of boom, rate of interest is

(A) fixed B) low

(C) zero (D)  high. 5
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(iv) ‘e rfafvedaretl & 989 F H TR 1 T8 HeA fRER1 § 2

(31) Ho HEIA I (F) o Shal W AT
(F) o FH &I (T) io A8 T |

'The profit is the reward for bearing uncertainties." This

statement is of

(A) Prof. Marshall (B) Prof. Jacob Oser
(C) Prof. Croome (D) Prof. Knight. %
2.  HIT B WE % HIE AYER faf@y |
Write any two of Elasticity of Demand. 1

3. H R AF i TR S AR 1 AT FHIedTeh A § 2 A9 ST |

In your opinion, which two classes of elasticity of demand are

imaginary ? Give names. 1
4.  STIH AN § N SARE § ?

What is meant by opportunity cost ? 1
5. 3¢UeA o IR IHE WiEAl & A fafen |

Write the names of four main factors of production. 1
6. TIE @NA % Jr3aL0 Y |

Give two examples of Explicit Cost. 1

7.  Hmra Hifae Iceedl % Hed &l 91 S w1 9 fafen |

Write the formula to find out the value of Marginal Physical

Productivity. 1
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10.

11.

12.

13.

14.

15.

5
ST OMferal hi his =N w19 TN faf@u |

Write any four central problems of Economic Systems. 2

ATITIHATST & R0 ki FYIfad hid del ardreRy] o] AR deal & -9
fafET |

Write the names of four factors affecting the classification of wants

relating to environment. 2
Ao % SEE fagr & \r Jrar fafew |

Write four assumptions of the Malthusian Theory of Population. 2

Toh ST B % T, Hiewd % See fag % S 9 v fafag |

As an economist, write any two significances of Malthusian Theory of

Population. 2

STCYRTEI ISR § |/ TS 9fd i Ygia sy |

Show the trend of demand and supply existing in a short-period

market. 2

MY STTER TSR 1 3 fagoard s g1t =ifew ?

What should be the two characteristics of market according to you ?

3nfefeh Aol Ud Fel HeATor F AT T THAD § 2
What do you mean by Economic Welfare and Total Welfare ? 2
et =1 StuTe, U 3T Y MO H TR e o1eeh § 2

How is the lack of education a hindrance in measuring the National

Income ? 2
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16.

17.

18.

19.

20.

21.

22.

6
ghfd e forom Sl o SuR W, ARG Td Ofad o Stedvme i g |
STHAMATT T HIFT |
Explain the dissimilarities between Marshall's and Robbin's definitions

of economics on the basis of nature and subject matter. 3
o So o Hedl i LIS &1 GRUT 1 TG fowmand fafaw |

Write three main characteristics of Prof. J. K. Mehta's definition of

Economics. 3
A YA & 5 A Aot T hifST |
Explain any three importances of Marginal Utility. 3

3Tk STUR, F1 diH= gfaearaear g™ fem dmma swfian g f9m «
GUR § ? T HifST |

According to you, is the Law of Diminishing Marginal Substitution an

improvement over the Law of Diminishing Marginal Utility ? Explain. 3
g7 & fohg] A faeioarsti &1 Seoi@ i |
State any three characteristics of Labour. 3

SrefehTel H THIRR § HH i STETHT oY i 9T 8Id1 & 2 TI= Hifew |

Why does a firm in Monopoly in long period does earn abnormal profits

? Explain. 3
Rerel & @ fagra & aRkymn fafae | fawga % § T #1 sagRon &t
@il g §Hesy |

Write the definition of Ricardian Theory of Rent. Explain the concept of

Rent in extensive cultivation with the help of a diagram. 6
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23. H I YRTG HITST | ‘319 |1 1 WEIres i "eEdl § 9HHAE |

S PE

7T 1 F1E9 AT | /I S5 R BT A9 Sifedt SR F g © 2 TRl Sras
T TR HI9T |

Define demand. Explain 'Income demand' with the help of diagram. 6
OR

State the law of demand. Why does demand curve slope downwards to

the right ? Explain by any two facts. 6

24. TR 3 hi Wo HARIA GRT & T TRt =1 fawroarsti wa smeir=mnedi =1 9oiq
HIfST |

S PE

T 3 &t Wo W] gra <t 7 afkurn &t fasiwarsti wa eer=mnsti &1 aviq
FHIFST |

Describe the characteristics and criticisms of the definition of National
Income as given by Prof. Marshall. 6
OR

Describe the characteristics and criticisms of the definition of National

Income as given by Prof. Pigou. 6
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